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fime : Three Hours

I. Answer all questions :

7a
1 Evaluate I tan 2r dx.

0

Z rrove inat ex + t4 = zct -

(P.ages : 3)
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.. 3x-sinx3 Evaluate Ilm

4 Write the parametric equation ofthe circl e 12 + y2 - l.

5 Find l,he foci ofthe hyperbola ' -i=1._. 4 5

6 Exsmine whether Bxz - 6t1, t3y2 +2x-7=O represents a parabola. eljipse or hwerbola.

7 Find the directrix ofthe parabola y2 = 19 5.
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9 Define Absolute convetgence.

\_ --2l0 Examine whether Z n converqes or diverees.n' I

11 Evaruate *(t"" h,F;P).

12 Show that 12 grows faster than ln x as x --> a. '

(12xYa=Sweightage)
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II. Answef all rrin" questions :

13 Find i if ezi = 10,

)
14 Evaluate f 1no (3r'f).

15 Find rhe sum ofth" 
"""i"" 

i #
.='r 6"-'

16 Fidn the Taylor series for /(r) = €' at * = 0.

17 Find the Maclaurin's series for r sin .r.

meelala o-2 t e-2 -t,r,t18 Find the eccentricity ofthe hyperbola gf -t6f =tql.

19 Graph the set ofpoints whose co-ordinates sati.6& the conditioos 1<.r s 2 ".a 
OaO 

= l.

20 Fidd an equatioo for the hyperbola with eccentricity fu and, directnxt = 2-

2I Find the Maclaurin's series for /(r)=e-'.

lII. Answer aryltue questjona: 
(9 x 1= 9 weichtage)

.. ( t t)
22 Evaluat€ um- | ___ _ _ l.r+u \ srn.r J/

23 Plove tfiat if ) lonl converges then I c, converges.
4=l .-1

. 24 Find the Taylor polynomial generated by f(r) = cos a 3g a = q.

25 Find the Cartesian equation for lhe h5perbola centered at the origin that has a focus at rB, O)
and the line r = 1 as t,he corresponding directrir.

26 Does the sequence whose ns term is ", =f=]" converge ? If so find nhn 
an.

\4-r_/

27 Using lntegral tesr examine wherher the seri"" -I, f "on*,""gu".




